BREFEE

109FEEHLR SEKRBIE. BEKE,

BERERE BESKRAEE UHSERE RSKRAE HEIRSERE HEXSKEE
SRR A | A | TEEER | FAME TR | TABE SR | TR | TR TR | HEE =% | HRidX
FASLHIETER(E ) (i) | ES4E | SRk 0 0 4 7 4 4 1
REET  (Zi) B4 | BEZ 0 0 5 7 0 3 2
FAILHEL TR (B | BB | AR 4 0 0 5 4 1 3
FAILMEERE (i) B4 | RIKTR 2 0 5 0 0 6 4
R FEESTEE T ) G | BISE | s 1 0 0 5 0 3 5
2 R | M | TS| FAmE TR | T AmE= | LS | ISR | MEE=R | HAiAX
BEEET  (F#LH Bzl | s 0 0 0 6 7 4 1
BEEET  (F#LH BIZCAH | HETE 0 0 0 3 4 6 2
BRI (Brdb) BIZcaH | FusdE 0 1 0 6 4 0 3
ERAATE A | M | TEEER | FAME TR | T AME SR | B R | B TR | HEE =% | HRieX
RARN (AL B | EHE 0 0 0 7 7 7 1
FEFREL/ N (FALH) B | B 0 6 4 3 5 1 2
BOTEYN (P TH) =4 | RO 0 6 1 1 7 3 3
FEFBEL N (FALH) EAL | A 0 0 3 4 4 7
FEFBEL N (FALH) B | MES 0 5 0 0 5 7 5
REE/N (2 EPA | R 0 0 8 0 3 5 6
FFEL  (FAERR) B | R E 0 0 0 4 7 5 7
BERELN (=) B | PR 0 0 3 5 2 5 8
[EEEUN A ) =B | BB 1 0 0 7 0 7 9
BAERLHRER NS (2R | @B | ApEalh 0 0 0 3 7 5 10
FLILHEZFIREINEE: (TR B | AR 0 0 5 0 1 6 1
SCEEN (B A | B 6 0 0 0 0 4 12
FEHEN (2L B | FIERE 0 0 2 2 6 0 13
WERENRERNE (ZPh) | =BHE| mEE 0 0 0 5 0 0 14
FLILHEZFIREINEE (TR B | MES 0 0 2 0 1 1 15
BAERLHRER NS () | @B | BEF 0 2 0 0 0 0 16
ERAATE A | A | TEEER | FAME TR | T ABE SR | TR | TR TR | HEE =% | HRieX
XEEVN (%) EAA | B 0 0 7 2 3 7 1
RN (P A | SR 0 4 3 5 6 0 2
BOTEN  (ZPTH) A | B 0 4 2 0 7 2 3
FEFREL N (FALH) B | BT 0 0 3 1 6 5
BOTEN  (ZPTH) AR | SR 0 0 0 5 4 5 5
RN (P B | M 0 1 1 2 6 0 6
SCEHELN (B A | PR 0 0 0 0 4 5 7
SCEHELN (B A | AT 0 0 5 0 0 3 8
SCEHELN (B A | ZEEERE 0 0 3 0 0 2 9
SCEHELN (B B | BT 0 0 0 0 0 0 10
2 A | M | TS| TAmE TR | FAmE= | LS| ISR | MEE=% | HAiAX
FEFREL N (FALH) hHM | EET4E 7 0 2 5 7 6 1
BRI (BT hBA | EET 0 6 5 2 0 3 2
BRI (B A | RETE 4 0 4 0 3 5 3
FEFREL/ N (FALH) hBA | FFEE 3 4 0 0 3 3
JEESE/N () e | BB 0 0 0 4 5 3 5
BRI (=) HhERAE | HRE 0 2 4 3 0 2 6
SHEVN (24 hBEH | BETE 0 1 3 4 2 0 7
LSRN (=) hEd | EER 0 0 6 0 0 2 8




WERENRERNE () | TBE| = 0 0 7 0 0 0 9
WERENRER/NE () | PBE| SR 0 0 0 5 0 1 10
BAERLHRER NS () | B | #Es 0 0 5 0 0 0 11
SRRV (ZH) O | ARED 0 0 0 5 0 0 12
SRR (ZH) M | REE 0 0 0 4 1 0 13
T RE/N (R 5 | IR 0 0 0 3 0 0 14
SRR (Z) hBAE | B 0 0 0 0 0 0 15
WERENRERNE () | TBHE| FEE 0 0 0 0 0 0 15
= WA | M | TS| FAmE TR | FAmE=R | LS | ISR | MEE=% | HAiAX
RN (P A | LU 1 7 0 7 2 5 1
KB GRS Rl | BETT 0 0 0 6 0 5 2
EEVN (AL R | REE 3 0 0 0 0 7 3
SRR (ZH) P | R 0 0 0 1 4 5 4
HieR/ N (FHERS) Ll | AT 0 0 0 5 1 0 5
BAERZIRER/ NS () || MERE 0 0 0 5 0 0 6
TR/ (R A | SR 0 0 0 5 0 0 6
WERENRESNE (P | PUE | RE 0 0 0 0 0 5 8
BOTEYN  (ZFTH) A | BREE 0 0 0 0 4 0 9
FEFBEL N (FALH) LA | R 0 0 0 2 0 0 10
BOTEYN  (ZFTH) LA | ARREUE 0 0 0 0 0 0 11
BOTEYN (P TH) LA | SRR 0 0 0 0 0 0 11
BRAATE A | #A | TAGE R | HABE R | FA\BE=% | SR | HEE R | HEE=% | HRiAX
[EEEUNE A ) R4 | RREL 0 0 0 0 4 6 1
AR RER NS (Zhh) | (BB | YW 0 4 0 0 0 0 2
BRI (B EBAL | HEsE 0 0 0 0 0 0 3
BRI (BT B4 | hakse 0 0 0 0 0 0 3
BRI (BT EBAL| TR 0 0 0 0 0 0 3
BRI/ (B IEBAL | sz 0 0 0 0 0 0 3
BRAATE A | #A | TAGE R | HABE R | FA\BE=% | SR | MBS R | HEE=R | HRiAX
BERERER NS (ZPh) | B | BT 0 0 0 2 8 0 1
TEV RN (R B4 | HERE: 0 0 0 0 0 6 2
TE RN (R EZ4H | MR 0 5 0 0 0 0 3
RSN (2L fRZC4H | EHE 4 0 0 0 0 0 4
BOTEYN  (ZFTH) R0 | R 0 0 0 4 0 0 5
BRI (B &40 | $EI510% 0 0 0 0 0 0 6




